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BUIENRADAR 

Plaats een aantal regenbuien in het diagram. Alle buien hebben een vierkante of rechthoekige vorm en zijn 
minimaal twee vakjes lang en twee vakjes breed. De buien raken elkaar nergens, ook niet diagonaal. De 
getallen buiten het diagram geven aan hoeveel delen van buien zich in die rij of kolom bevinden. 
 
STORM CLOUDS 

Place some rain clouds in the grid. All clouds have a rectangular or square shape and are at least two cells long 
and two cells wide. The clouds do not touch each other, not even diagonally. Numbers outside the grid indicate 

how many cells are part of a cloud in that row or column. 

By Alex Samsom Puzzle ID: #3105 
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